DPukul 03:00:57

12m? x 3,17 x 20kg = 760,8 kg
12m? x 3,17 x 40kg = 1521,6 kg
12m? x 3,17 x 60kg = 2282,4 kg
12m? x 3,17 x 80kg = 3043,2 kg

12m? x 3,17 x 100kg = 3804 kg

Pukul 04:00:54

12m? x 4,09 x 20kg = 981,6 kg
12m? x 4,09 x 40kg = 1963,2 kg
12m? x 4,09 x 60kg = 29448 kg
12m? x 4,09 x 80kg = 3926,4 kg

12m? x 4,09 x 100kg = 4908 kg

Pukul 03:00:59

12m? x 5,38 x 20kg = 1291,2 kg
12m? x 5,38 x 40kg = 2582,4 kg
12m? x 5,38 x 60kg = 3873,6 kg
12m? x 5,38 x 80kg = 5164,8 kg

12m? x 5,38 x 100kg = 6456 kg



